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Questionl:-Arrange the following events chronologically :
(1) Sepoy Mutiny

(2) Battle of Plassey

(3) Queen's Proclamation

(4) Formation of INC

Select the correct answer from the codes given below :
@IOPOQAN (MVEAIBRUY HORIGAAMTVE] 4] @Al HE]ERE: :

(1) Wi anns

(2) qlomilavo

(3) eomeviges alls.snieo

(4) oagagBdmiges @aleesmo

2JIOS M@BIQNRIEBM  6BIWEEITE MM WEIVIW OT®o
ODOEEVNSOOD LD

A:-(4), (2), (1), (3)
(4), (2), (1), (3)

-(2), (1), (3), (4)

B
(2), (1), (3), (4)

C:-(3), (1), (2), (4)
(3), (1), (2), (4)

D:-(4), (2), (3), (1)
(4), (2), (3), (1)

Correct Answer:- Option-B

Question2:-Match : List | with List Il and select the correct answer with the help of a
code given below :

List | (Author) List Il (Work)
(a) E.M. Sankaran Nambuthiripad (i) A survey of Indian History
(b) Elamkulam Kunjan Pillai (ii) Kerala Charithrathile Iruladanja Edukal
(c) K.M. Panikkar (iii) Keralam Malayalikalude Mathrubhumi
(d) K.N. Ganesh (iv) Keralathinte Innalakal
Code :
969 ®ATIBlEBM eBowWledo manceomies allay-l em ellay-Il e ewGomegED S,

eflay-l eflay-Il

(eamon) (e0)



(@) .ag0. WBEWD MMDIBlaps (i) g quBeq) B0ad MWLM AR

(b) oscm:s. menmBalss (Il) eoos 2UCI@ODIOR SDMBSSHTD BFEHUD
(€) ed.afo. alemlend (iii) eoEs. peiogleges 20QEdl

(d)  e®.agm. neemay (V) eoesomlemo snmelsud
CHIUIBHUD &

A:-(a)-(iii), (b)-(iv), (c)-(ii), (d)-(i)
(a)-(iii), (b)-(iv), (c)-(ii), (d)-(i)

D:-(a)-(iii), (b)-(i), (c)-(iv), (d)-(ii)
(a)-(iii), (b)-(i), (c)-(iv), (d)-(ii)

Correct Answer:- Option-C

Question3:-Who was the founder of Kuka Movement?
BB (JTLAIMOTIHMO TVAIAIBHND @RIV ?

A:-Renjith Singh

6231y mUloUy

B:-Ram Singh

0% MVlosy

C:-Raja Ram Mohan Roy
©9230000 GAIaNMB GOIW

D:-Nauninal Singh

MOMI2I0@d Mloty
Correct Answer:- Option-B

Question4:-Which of the following is/are related to Swathi Thirunal Rama Varma?
(1) A golden age in the history of Travancore
(2) First Raja of Travancore to receive the title ‘"Maharaja' from the British Crown
(3) The first census of the state was conducted
(4) Formulated a Legislative Council
Select the correct answer using the code given below :
96 0QMARIB MLIGIGIBMIUY EIAAIBIAQAIVS FNIMWOISD aB@o6?
(1) o@aleoegdlomo acl@omnal 63 QI &Il
(2) el &@Demlad Mmoo '1an00@m" agam aisall aidly
@Ry Gl@malmi.gdleal IR0l
(3) muerunomeT™ @REEE ETVLABIVANY MSOI)
(4) em eaigleamydal e@oemBmilod Salledly)
(REIIW OOMPo BH6NZallSlens

A:-(1) and (2)



(1), (2)

B:-(2) and (3)
(2), (3)

C:-(1) and (3)
(1), (3)

D:-(2) and (4)
(2), (4)

Correct Answer:- Option-C

Question5:-Which of the following is/are not related to Great Revolution in England?
(1) The storming of the Bastille

(2) Bloodless Revolution

(3) Toleration Act

(4) Continental Congress

Select the correct answer using the code given below :

6L OQYMAUDIB F@IEM oRErEOR! 20T Qllgjaiq)aod  snimwalgjoom?
(1)  enoqlelon d058:00

(2) eemedlo allgjal

(3) by Mmoo

(4) esomElommMmd esoemWmY

(PEIYIW OTOMPo B6eMallSlend

A:-(1) and (2) only
(1), (2) 20@-o

B:-(2) and (3) only
(2), (3) 20@-

C:-(3) and (4) only
(3), (4) 20@o

D:-(1) and (4) only
(1), (4) 0@

Correct Answer:- Option-D

Question6:-Present President of UNICEF
UNICEF eado eeqjoeecm qjomilandy

A:-Julian Huxley
el coglel

B:-Maurice Pate
620l Gal)

C:-Catriona Laing
S0Sleoem aIlleuy

D:-Catherine Russell's
SOOI leablcry

Correct Answer:- Option-D

Question7:-The name given to the boundary between mantle and core of the earth
G2IQeS &IMo @RYAUEEMOYJe ANRI88 RGBS M@ EIQICIEBMM Gald’



A:-Mohorovicic Discontinuity
62062006000l alleaizme

B:-Bullen Discontinuity
enssm alleaizme

C:-Lehmann Discontinuity
6120 Qllegiemo

D:-Gutenberg Discontinuity
w5a8enIdUY allegizme

Correct Answer:- Option-D

Question8:-Which type of map portrays a specific spatial distribution or category of
data?
8@ Mgy eryau@d AllmeEemead WwIQIYes allkowead AlEle:aElesmm® g MmECMISs Mdajem?

A:-Physical Map
adlolen@d @da]

B:-Thematic Map

@203 @]

C:-Cadastral Map

BSOUWOITYM @]

D:-Topographic map
650G oWadld’ @da]

Correct Answer:- Option-B

Question9:-North East Trade winds blows between which pressure belts?
Qe Slesnm ey $:07 a3or adGIRIWaRUEsIs@lanem allwma?

A:-Sub tropical high pressure belt in the north and equatorial low pressure belt
QISED) DalDEHEAIRI PWABM ABGAIRIYOQJe ARLIEREID MIP ABFAIRIY0

B:-Polar high pressure belt and subpolar low pressure belt
CalO80A ©6a0 (aJaHd 6)6T).|(6880 LENIGAINEBIMB BRID (JaHd e)emafago

C:-Subtropical high pressure belt in the south and equatorial low pressure belt
OOE) DalDHERRILI DPWABMM ABGAURIRAJe DRLIEEEID MIP BABRARIYNY0

D:-Sub tropical high pressure belt and sub polar low pressure belt
MUENIESIAflEn®S 6360 (@Jaud aerum%go 6Nt Galos0@ @RID (JaHd 6)67).|(U8((30

Correct Answer:- Option-A

Question10:-Which of the following statement is/are correct about the Eastern
Coastal Plain of India?
(i) It lies between Eastern Ghats and West coast of India
(ii) It extends from West-Bengal-Odisha border to Kanyakumari
(iii) The plain is known as Konkan Coast in the north and Malabar Coast in the
South
(iv) The plain is drained by Mahanadi, Godavari, Krishna and Cauvery
HIMIQOS HPEHMONETLADRIOO® GOle] MIOP AlOQYM AU @m0y EI?
(i) ep svayQES BleeM allo@ale:BERe alSlEEmIR0 TleOIMm. selenem
20l (TU_D']@']G)QJQ‘?(TD(ZD“
(ii) 0@ alvalla-enictud-aaulled ERGIBOT D@ HMPHBOE@] UG Qiyoally)
BISEBMO



(ii1) cuses ©B8:mM@E0 af)Moo HDES MLIENIIR @B af)Moe DD TLAMEI
@RI |G
(iv) @2anomd], enoBoid], @o¥, B0edl agMTQIWIG D TVAGEI BEB:ATD

A:-(i) only
(i) @a0@o
B:-(iii) and (iv)
(iii), (iv)
C:-(ii) and (iv)
(i), (iv)
D:-(iii) only
(iil) @0@o
Correct Answer:- Option-C

Questionl1:-The location of Agricultural research centres in Kerala is given. Which
of the following is correctly matched?

CHESOMIOR! HHIBUlE NEQIHEM EH(BEBBEOS MVAXMo m«s%oeﬂ@ﬂ%m”. ©®I6PaOQMA@ a@@I6eT’
REIWIV OaNGBOEMOISIND®?

A:-Central Tuber Crops Research Institute Kerala (CTCRI) -
Thiruvananthapuram
LS TD sgsmd G®og] GlTu@gf @cﬁcgg’l%g” eme8 (mslnilery@eag) - GlaBaImMamaj@o

B:-Central Plantation Crops Research Institute (CPCRI) - Ernakulam
OIS qfoeRarm e@dg] Alrudal Mo’ (o Jladarvlerdeng) - agOemod:so

C:-Indian Institute of Spices Research - Kasargode
nleINeG] @aﬁq}ﬂ%g" 80al ©ETVAVAY ClVA4] - H:ITLBEUNIW

D:-Rice Research Centre - Kozhikode
660V Alrud] OTVMA - eHIFleEms

Correct Answer:- Option-A

Question12:-Which of the following is a latest version of GIS Software?
GIS emeg ©aIdlemo ojolw aldila] @69 MM agmoem?

A:-Intergraph
MBIl

B:-Arc GIS 10.8
aryds’ GIS 10.8

C:-Arc View
@R Qly
D:-Map Info
@9a] 086N
Correct Answer:- Option-B

Question13:-New Economic Policy Introduced in India 1991 covers
1991 - @ aylcd @raImElaflal ojole cmuomIcTIe: Mo

A:-Stabilization reform Measures
OIRMNIOORIEINVAHM al@lad@6m MSalSleud



B:-Structural Reform measures
AQISMOAIEAIW al@lag@EMMSalSleud

C:-Both (1) and (2)
(1), (2) o eemze

D:-Environmental policy measures
al@lmudlo)] M MSalSleud

Correct Answer:- Option-C

Questionl4:-Central Government's non-debt receipts comprise of
(i) Tax revenue
(i) Non tax revenue
(iii) Recovery of loans
(iv) Disinvestment receipts
EH@BUNAIOMBIOMO &SaleOm EMIG®HUE OUdeagaT
(i) oo umasme
(i) Meclewme Q@aIM.
(iii) AOQHEes allonegenad
(iv) ddlesstat algdleom emil@eu3
A:-(i) & (ii)
(1), (ii)
B:-(i) & (iii)
(i), (iii)
C:-(i), (i) & (iii)
(i), Gii), (iii)
D:-All of the above
GRMAOEM U0

Correct Answer:- Option-D

Question15:-Government fixes Minimum Support Price of 22 mandated agricultural
crops which consist of
22 ddennllo £03a4e Qlgsudes nudeod dmla. mosegalel mlunieilesme

A:-14 Kharif Crops, 6 Rabi Crops & 2 Commercial Crops
14 euodlad allgs:ud, 6 ooenil allssud, 2 anemimy allssud

B:-10 Kharif Crops & 12 Rabi Crops
10 suodlan alls®:ud, 12 ool allssud

C:-12 Kharif Crops, 6 Rabi Crops & 4 Commercial Crops
12 andad allssud, 6 ool alsaud, 4 anemlmy allseud

D:-9 Kharif Crops, 10 Rabi Crops & 3 Commercial Crops

9 andlad alssud, 10 ool alssud, 3 anemlmy alssud
Correct Answer:- Option-A

Questionl16:-P C Mahalanobis model on Indian Five Year Plan
(i) Emphasis on development of Capital goods industries
(ii) Emphasis on development of consumer goods industries
DM AlERQAUCTVEAIRLBIRI@ oll. Nl aanenemoenimilemo ao@e

(i) ®oallgmd wowmy QQIMIEREeS AlleMMOETINY @M@ Mgl

(i) SEMTVIAB DOUTY AUAITLIDEBREHS allerumasilay’ ©Dam@3 meiam



A:-Both (i) and (ii)
(i), (ii) epcu @enzo

B:-(i) only
(i) @20@o

C:-(ii) only
(ii) oo@o

D:-None
aamadley

Correct Answer:- Option-B

Question17:-Which of the following is/are correct about Pradhan Mantri Fazal Bhima
Yojana (PMFBY) 20167
(i) To provide insurance coverage and financial support to the farmers in the event
of crop

failure due to natural calamities, pests and diseases
(ii) To stabilize the income of farmers to ensure their continuance of farming
(iii) To encourage farmers to adopt innovative and modern agricultural practices
@WwIma@ a0m@ Ea eomm (allagoagadmissa) 2016 mussninwlal ®oeCajoQM@I ag@osT
w@l?
(i) eolgemmeanud, lsarud, eEIMMRUZ aglal ®:0@6M. allgenislaflemos.

MR BHBaUBSBLE MBUOMBY al@lal@8 Qo MVIMITBIG MVANIRYo

M@
(i) ®RusHmes ©®SBa) DOUGBIDMGIMIT] ERAIGHS AUTBRIM.

qudleeqn|gam s
(iii) @MY ERYWTIBHYDOW EHIBaE: @TB:ud TLIGEIEHIM HBUMHE®

Go@MVICln lEB3 S

A:-(i) only
(i) 20@o
B:-(i) & (ii)
(i), (ii)
C:-(i), (ii) & (iii)
(i), (i), (iii)
D:-(i) & (iii)
(i), (iii)
Correct Answer:- Option-C

Question18:-RBI's targeted liquidity support to the system in 2021-22 included
(i) Special refinancing facilities of Rs. 66,000 crores to all India Financial
institutions
(i) Term liquidity facility of Rs. 50,000 Crore to ramp up COVID related healthcare
infrastructure and services
(iii) Special Long Term Repo Operations (SLTRO) for small finance banks of Rs.
10,000 Crore
(iv) On-Tap liquidity window of Rs. 15,000 crore for contact intensive sectors
(v) Extension of On Tap Targeted Long Term Repo Operations till 31st December
2021
2021-22 - mdlqyoniieaissss @pdmisag@es sodemnga’ alelasldl mueajods
O35



(i) @ralecainmp Wne:EKTLNIAIMERWE 66,000 emoslges «iemye
OladlmomBmUleas” &MU E:oL68RU3

(i) emoallay@ol ML EREEINKTVEBUEM., BRSINLOIM HAVDHEYEIRE.
emImeEBge aidallaflenoad 50,000 esosiges eso elsilaldl amuneoy

(iiil) ®aQ®ls adlmomdmy snomaudesss 10,000 emosiges weoys dldeaisoe
dleajo Boqjenntmeud (SLTRO)

(iv) cvmnides ollqeasemwdes 15,000 esos] @alqes eosm soaf
allslaldlaladeowo

(V) 2021 alrvesnid 31 aiee 80smdsoa] soBeUNQML’ 6I0euY @Se Glealo
aJadommaases allajellaeems

A:-(i), (i) & (iv)
(i), (ii) (iv)

B:-(iii) & (iv)
(iii), (iv)

D:-All of the above
GAT3 OIS0

Correct Answer:- Option-D

Question19:-Which one of the following statements is/are correct related with
Finance Commission in India were former Union Cabinet Ministers?
(1) First two chairpersons of Finance Commission were former Union Cabinet
Ministers
(2) Kerala State Finance Commission submits its recommendations to Chief
Minister
(3) Finance Commissions' recommendations are mandatory in nature
(4) Finance Commission shall have powers of Civil Court while functioning
QBEH@3 Ho6nlMg aEIB0B WM BN UPAIQS MIMLEAIT ISP AN @TVIAUNGESEIBE aR@IENTY
w@l?
(1) WNHBIEY HIFHHMO @RGEHO M GPELLGHUMMIA YD EH soeniling’

220 I;mMe
(2) esr8 WMHG:I0KElHMB @R@IOMO Waloduod:ud PERETIES TVABA]lesam
(3) WHBEEBNUHWBO WalBWHUD @D MlBenINMLAET
(4) wnBEENHMD @adoTleaeauud Milaldd eaIsTlQes @RWIE:IERU3

©6MRoI@lE5B0

A:-(1) and (2)
(1), (2)

B:-(2), (3) and (4)
(2), (3), (4)

C:-(1) and (4)
(1), (4)

D:-(1) and (3)
(1), (3)

Correct Answer:- Option-C



Question20:-At the Union level, Subordinate Legislations are framed and notified in
the Official Publications by

Qemlm melosiled quesmidawlemyd Maarud @ le:@leaseql. 80e3YUIG: JaUlelld:eemeanslcd
@O EBB Qo 6).21Q)M0

A:-The Law Commission of India
6Rl0 HNaHM 630ad OO

B:-The Ministry/Department Concerned
DODORIW/ Qldia] ENIMWeA]SIEleRM

C:-The Supreme Court of India
DAMIQYOS MYaflo @GBSO

D:-The Parliament of India
MM aldo@aleany’

Correct Answer:- Option-B

Question21:-Match List-I (Major Constitution Amendment) with List-Il (Minister who
introduced the Bill) and select the correct answer using the code given below :

Constitution Amendment Minister who introduced the Bill
(1) Amendment 44 (1) Sharad Pawar

(2) Amendment 73 (I1) Shanti Bhushan

(3) Amendment 97 (1ll) Ravi Shankar Prasad

(4) Amendment 104 (IV) G. Venkatswamy

®IO® AN EMHIRIeWIUtlaf ellmy-l (@wom eeemaaismo ersun®l) alqy-Il (snimd @@ a@s)
Q0@ HAIMBOMEFOTD REIWIW PTG HOEEETOFERD:.

BEEMARISMI CRRND) enil@d @RAIEl]l,] a@o]
(1) ereno) 44 (1) we® aod
(2) eeaunol 73 (1) weoavllgauad
(3) eeano 97 (1) eall wed muod
(4) ereunol 104 (1V) =. ecussmoroail

(1)- (lll) (2) (1), (3)-(V), (4)-(1)

D:-(1)-(1), (2)-(1V), (3)-(I1), (4)-(111)
(1)-(1), (2)-(1v), (3)-(11), (4)-(1)

Correct Answer:- Option-C



Question22:-Consider the following Statements :
(1) Kendriya Hindi Samiti constituted in 1969 with Prime Minister as Chairperson
(2) Department of Official Language was formed in 1975
(3) Parliamentary Committee on Official language was formed in 1976
(4) Article 348 discusses about the language to be used in Supreme Court and High
Courts
Which of the statement given above is NOT a correct one?
@IOPaOQM (JTYIQUMNERUD al@lW6TlEae: :
(1) 1969-® woma@s) 6a1Aealgemow] ea i@ odlml mualdl @aledly
(2) evespuile @0 Qida] 1975-wd (GIAE=NCIPY)
(3) evespulle @oay MuosnIMWly) alodeien®d] ealldl 1976-wd Saflecly
(4) @Erdgeld 348 myeflemosolala 6ancHIsTlulg alcIUlesmens
E00UWEROl o] 21@.9J6 21T
RHEITB A0 (JTRIAUMBSI LAWLPTOD BT ?

A:-(1) only
(1) 20@o

B:-(2) only
(2) 20@o

C:-(3) only
(3) 20@o

D:-(4) & (1) only
(4), (1) 20®-

Correct Answer:- Option-A

Question23:-As far as Advocate - General of a state is concerned
(1) Qualified to be appointed as judge of High Court and, the person is barred from
appearing for any private individuals and firms
(2) Appointed by State Governor in accordance with Article-165
(3) Give advice to the state government upon such legal matters and any other
assigned to
him/her by governor
(4) S/he is entitled to participate in the proceedings of both Houses of State
Legislature and
committees with voting power
Which of the statement given above is/are correct?
BT MTLOIMOBIHABO @AICEHT WMORIOM MUeNIMW]gflseEmos.
(1) eanemosall mauwslwow] Mwdleneqisom CRINmWSS ATl agemEsRj
MUIBIEIUBDBHUBEBo MUNIAIMEBRUBERBAUENE] ANDITWBIGM@I@ Mmoo
alleigeen|sl@lesme
(2) eRdglesltd 165 @pmmudla wadspd mloalyoy
(3) @rome. Mwanearw BoeimEEslal WaIdem®@ @REGAOOIM GRAIBE
2JOOEIOAUSOTW ACQODB:Rjo HIEKEEBREIR TVMMLAIM TVREHIGIM OalEGBUR.
M@
(4) averunom TR2TVEHSOS DBIVRHSESQo ¢0Sl6Es @oWle:0eR8s
HIGlQeSQe MSaISIHEIM a1OEHFEOM @POUBES BRBAOMQENE
RBEITB al0eOTIBIEBM (JTROAUMBSI® oB@I6M (oal?

A:-(1) and (2)
(1), (2)



B:-(2) and (3)
(2), (3)

C:-(3) and (4)
(3), (4)

D:-None of the above
QHESIO AlOTHAUOQOMORL]

Correct Answer:- Option-B

Question24:-Consider the following statements regarding National Green Tribunal
(NGT) of India
(1) National Green Tribunal has other sitting of places in Kolkatta, Chennai, Pune,
Bhopal
and Chandigarh
(2) They are appointed for a period of five-years and eligible for re-appointment
(3) The NGT comprises, Chairperson, Judicial Members and Expert Members
(4) Justice Swatanter Kumar was first chairperson of NGT
Which of the statement given above is/are correct?
DMYeS B a0Elo Sleniysmelem (NGT) aruesnionwly) @Japoimeud al@lneniless:
(1) eswWlw ~ndl® G’]6T).Ié6TT)eﬂ('D" EBG:IMEHO, HalOOMN, afM, GERIAJIM, alemulnawy
agyamlalisesglod mildleuy oere
(2) @pad eremjaidauecm eoeiwsaleaiss Mlwnlleneagee alleng.
Ml2MOETIM @RAAO®QYSSAUMA6EM
(3) erwWlw anclo® LS']6T7.|§6meﬂ<0'8 ©21@3BeaILeN, BUlU® @o.LIERU3, alleua
@RUEBRUE )il OUBOAIGTT
(4) sqioy uiommd $008 @RIBM DGIEMO @RYEEOD GBERLIBHUM
&gl N@HIGlERM @JIROAUNBE®S @@ o@!?

A:-(1) and (2)
(1), (2)

B:-(2), (3) and (4)
(2), (3), (4)

C:-(3) and (4)
(3), (4)

D:-(3) only
(3) 20@o

Correct Answer:- Option-D

Question25:-The President of India can't exercise veto power with respect to
(a) Money bill

(b) Financial bill

(c) Constitutional Amendment Bill

(d) Private Member Bill

Code

M @milawd@lay allego @rWleoe. @eIuilenam o ¥lailey
(a) memlsnil@d

(b) adlmomauyad eniled

(€) reeMAIsM ERABV® miled

(d) cruisoey @oow) enilad

GO

A:-(a), (b) and (c)



C:-(a), (b) and (d)
(a), (b), (d)
D:-(a), (b), (c) and (d)

Correct Answer:- Option-B

Question26:-According to the Constitution of India, what is the criteria for
determining the total number of Ministers including the Prime Minister in the
council of ministers?

BEEMAAISM @PRMIEl], ACTad®mes e@Demailaleal WIMAETIWSE. HAITM. ACTIDOBOS af)elPo
wAepOlesma@iess @0MEMUo ag)amoe?

A:-Not exceeding fifteen percent of the total numbers of both Houses of the
Parliament
aldeleadleodo DBTVRHSEOSQo GROOD af)SIRODOMO aIGMErRl @AIMOTITS ESTTY

B:-Not exceeding twelve percent of the total numbers of the Lok Sabha
GRIGHTURQYHS HRAIDTo af)SNOTIEMO al(DEME LBMAIMDOITE ST

C:-Not exceeding fifteen percent of the total number of members of the House
of the People
62000V 80al aflnflldmileal &adome @DoEBRSEOS al@lmel LP@AIMOITD BSTOY

D:-Not exceeding twelve percent of both Houses of the Indian Parliament
O al0delead@ledo DBTVRHSBESQo a6 PORIMODTD ESTBTY

Correct Answer:- Option-C

Question27:-The theme of SUJALAM 2.0 campaign is
myzele 2.0 s:0emiglendo «jeaws

A:-Grey water : making the invisible visible
210MIOOMRI88 @l - GRGUDRIVBIOM GUDYRIBBID

B:-Ground water : managing the invisible visible
BUAR=RI - @PGEURYRIV GUOLERO8 MIVEDIEBMD

C:-Ground water : making the invisible visible
BUAR®LI - GPEURIVDIOHM GUDYRIEBMD

D:-Greywater : managing the invisible visible
210MI0OMIRI88 @l - @RGEUDYRIW GUBEROS MIWEIEBMMD

Correct Answer:- Option-C

Question28:-Which among the following statement is/are true?
(i) All executive actions of the Governor of a State shall be expressed to be taken in
the

name of Governor
(ii) There shall be Council of Ministers with the Chief Minister at the head to aid and
advise

the Governor in the exercise of his functions except in so far as he is by or
under the

Constitution required to exercise his functions or any of them in his discretion



(iii) The Governor appoints Chief Minister and other Ministers

(iv) A person to be eligible for appointment as Governor should be citizen of India

and has
complete age of 30 years

®IOLOQYM (JTRIAUMNBEIB @6 Uo@|?

(i) &@ avsmuoomEIedo agealo aggloglal msaisle:ge BRReS ealElw
@ Slaflesnsrr@moem’

(i) waBREReO M0IWlEnIM. DalEaUBlEnIM. PEUROTIQYES END)IOITD
DEIROBOS OBDENMVITE HeNRIWIGlEs0

(iii) vadeMAd ouETlow. 2Q 2@l20eeQ. Mlodlsmsme

(iv) vadepoow] mloamemln’ GRAmWSs el B earvem. 30 ey
O BHEDAIW|B]EHEMo

C:-(ii), (iii), (iv)
(ii), (iii), (iv)

D:-All of these are correct
QHEIOB A0 af)ejde VBAIWIETTY

Correct Answer:- Option-B

Question29:-By the NITI Aayog's Multidimensional Poverty Index, the headcount
ratio for Kerala was
ol @reorlamo snicogeu BOGIGY Myalls: @jd:000 CHESOTINRl BRBMHBOS @M.

A:-0.71%
0.71%

B:-0.51%
0.51%

C:-0.21%
0.21%

D:-0.15%
0.15%

Correct Answer:- Option-A

Question30:-Which among the following programs and their purpose is/are
matching?
(i) Sulekha - Plan Monitoring for decentralized planning at local level
(ii) Sanchaya - The Revenue & Licence System
(iii) Sugama - Cost Estimation tool for public works
(iv) Sachithra - Map suite (GIS) and asset register for local governments
@IOPaOQM GOWIPHEIT GO GRAIQYSS HEFUBLYRIW] @mmmacﬂgm@?
(i) myeelss - @oeswle: @O alea@@le® ERIY@EMOTIMIWSS ¢lomd
c206mIQCleuy
(i) crveruw - OQIMY OORITLMMY MlTYo
(iii) YV - EAPDEIAUBODMEBUBMBSS 6 2ILIAT HEMEDILBANT PSS
(iv) cvall@ - @0a] TVygo (ed180g)agm)) oeswdle: MBMIBEUIEBBS @OMVG



E=TRQo

A:-(i), (ii), (iv)
(i), (i), (iv)

B:-(i)
(i)

C:-(i), (iii), (ii)
(i), (iii), (ii)

D:-All are matching
ng)%J)Oo @nJO(ZB(OTG)G)(H%(TTa

Correct Answer:- Option-D

Question31:-Golden Boot Prize Winner of World Cup Football 2022
2022 ceioddaf agsemioud enoudawnm enjs emmoal

A:-Kylian Mbappe
SRl afgoenioea]

B:-Lionel Messi
2IQEMd s)mq}g’]

C:-Enzo Fernadez
af)MBEIMVIY HANBEMICWLMY

D:-Emiliano Martinez
ag)2lelloemo aodslemmy

Correct Answer:- Option-A

Question32:-The objective of the Abhayakiranam program is
@RRW®IP6Mo af(M GEJIWIAOMO Lld™io

A:-Maternity benefit scheme with an aim to compensating partial wage loss,
improve health seeking behaviour, improve nutritional status and to promote
exclusive breast feeding
EIUIIBH20® GAUMM Moo MHIDE, BRYEBIVe ODIOAUSTDOD, GaldaUdHIaNIE MIRINNE. R 4IOAISTD G,
muafleweatmo® gaIsmd GldETVIClafléns agamial elceﬂd(gm'l%gg ea6gemIdl emimladlg” ml

B:-Financial assistance to widows for self employment and better living for
their families
QllwAGEBE TVIe E@IFIRIM. GRAIGES EHFENIOTIM OA4eq]5 Hlalmamie MVIMIGTTIB:TVANIW.

C:-To provide a safe and better living environment to destitute and Homeless
widows
MEoRIENIM. BAIMECIO@2I® AllWAlG:WBE MYEEU®O 62 4l6S@RIW Halm GRMM@lEH. Mels

D:-Mangalya Scheme for Widow Remarriage
QAlwal oJMBAUOOTIMRES Motnely alRLO)

Correct Answer:- Option-C

Question33:-POCSO Act come into force on
GaloGo M. mleiiled aomoy

A:-14th November, 2011



2011, maeend 14

B:-14th November, 2013
2013, maenid 14

C:-14th November, 2014
2014, maeenid 14

D:-14th November, 2012
2012, maenid 14

Correct Answer:- Option-D

Question34:-With regard to zinc

(@) Zinc is a constituent of Carbonic anhydrase

(b) Zinc is a constituent of Carboxy peptidase

(c) Zinc is a constituent of Cytochrome oxidase

(d) Zinc is a constituent of Alcohol dehydrogenase
Choose the correct answer from the options given below :
avlslea aveenicnula]

(a) ®odeeNI0eMIE @RYMENAOEAYMIHMO BT CRISE:A6M MUl

(b) ®odesng ealaidleanmilondo s caisenoem’ s

() eemuegoe@. Bogleawmiomo B caiseaoe miles

(d) ER@®:Ea09u8 AUleeOELBEMIVIHMO BT ARISGA6Y MUlEs
@969 ®MIBIERM BdalnHPG&EIT MMM PEIVIW OOME. HDEEETTNSERBH

A:-(b) and (d) only
(b), (d) 20@-

B:-(a) and (d) only
(a), (d) mo@o

C:-(a), (b) and (d) only
(a), (b), (d) ao@-

a), (b), (
D:-(a), (b) and (c) only
(@), (b), (c) 20@.

Correct Answer:- Option-C

’
’

Question35:-Identify the molecule :
O@IE® ®IEl40lQs
O}
>

O

A:-Cannabinoid
Smenflemoiouy’

B:-Coca alkaloid
GHHOE) @)@ BRI

C:-Morphine



GRIB66aN0d

D:-Benzodiazepines
HENINBECMLIAWIQIMVIEB MM’

Correct Answer:- Option-A

Question36:-Which of the following match is incorrect?
®96LOQYMAUDI@ «Z®I6M 6@F?

A:-Rhino virus - Corona Virus
O'](S(T)O HQUOMY - BEGHIGOIEM HOUOMY

B:-Human immuno virus - Polio virus
oOém(TB EDOMEEMNI OOAUOMY - Caliggled HBHQOMY

C:-Adeno virus - TMV

@pclemo eeaioay - TMV

D:-Influenza virus - Measles virus
@(Taao%mcﬁ(m 660V - dlndladay’ eeqiomy’

Correct Answer:- Option-C

Question37:-Who is/are the winner of 2021 Nobel Prize in Physiology or Medicine for
the Discoveries of receptors for temperature and touch?

®Ialmleige audremaniegss dlavalge®ees dengalgomoniay 2021 ee! adlnilewoge] @oegmslod
eaWlmUlmIEd EMIENI@ TMLANIMe EMSIV® @RYBIEM?

A:-David Julius and Ardem Patapoutian
cowallaw’ ellomye @rReW. aldgeaIDglm.

B:-Benjamin List and David W.C. Mac. Millan
eenierialad eﬂc(r)}go cawilowy QTS T mdl. aos’ algjmee

C:-Syukuro Manabe and Klans
MYEHYEOI AMIBENIQYo BoBMYo

D:-David card and Joshua D. Angrist
el $oBUYo @ZBOHI (Wl @T@o@'lﬂggo

Correct Answer:- Option-A

Question38:-Two masses m and 4 m projected vertically upwards from ground at
the same time with a speed of 10 m/s, when it is returned to the point of projection,
which of the following statements is true

@6 aflemwe M 20 4 M g0 10 M/s sanoaicd @aloicd amlm’ elmninow] gegleas OeoRy 6algmo.
@M SBHHUMB GaldDllealds) aSEREMIOUDE, @IOY @AM (JTYIQUM I3 PRlIC®?

A:-Both masses returned to the point of projection at the same time and with
same speed 10 m/s
@6 afleMuEBREe BEEITLVRW. 66O CAUNMOIGS 10 m/s - eomeund eatowlfleniss asear]

B:-The mass m returned with a speed of 10 m/s and 4 m with a speed of 40
m/s at different time
aflemwe. M 10 M/s ecavmeig 4m 40 M/s scanomaleje aymymy MuaeaBglcd @bl oo

C:-The first mass m returned to the point of projection with a speed of 10 m/s
in 2 seconds, and the mass 4 m with a speed of 2.5 m/s in 2 seconds
@R alemw. M 2 emuend@lmeasglcd 10 M/S cano@l@d eejomeumd ealodlealss assd], 2
e @lmssiad 2.5 M/S cano@led 4 M aflemwo



D:-Both masses returned to the point of projection taking equal time but with
speed 10 m/s and 40 m/s

@613 aflemuEEEs. el TLEWHRFO) HEJIBHUM Calo@lealss) aSeEHEl. aless CUND 10 m/s, 40 m/s
Correct Answer:- Option-A

Question39:-A spring balance is tied to ceiling of a lift reads 10 N when it is
stationary. If the lift is accelerating upwards with an acceleration of 10 m/sz . The
reading shown in the spring balance is (take value of g = 10 m/s2)

8@ aylety en10aIBmy’ 8@ elladlom mileill.wadwll eimulsldlesme @ooy mlumemonyemioud 10 N @ryem.
10 m/s: oueememmoes allog gegleaiss @ICl®eqgTDE@oemMEmd Mylu snioaidmiled
B0emlafdlesam lawlety moemy’ (@ = 10 M/s2 &mo gele afSERs)

A:-O N
ON

B:-10 N
10N

C:-20 N
20N

D:-5N
5N

Correct Answer:- Option-C

Question40:-The optic fiber cables, one of the main method of energy loss is
through dispersion loss. Which statement about dispersion is correct?

8Daldle; ©eanenid coeamﬂgoeoua 9VBLRMYOBIHABO (@WOM BOBYEERElHRIMMIET AWIETVLEMB Moo,
mﬂ@o’l@o’lsmm@']@mmohdgg RO (JMRIAUMIET (B@I?

A:-Dispersion occurs due to the dependence of wavelength of light on the
refractive index of the medium
20WHPREMIOMO Gleaodlal’ MYalle:fl@d (IEBHIODIHMO GEUOHEBLNEO @RUDWILBIN® HEIENEIE
All®omd muceallesm @

B:-Dispersion occurs due to the scattering of light with the medium
2OWAEOMIOSIae (JEIWe allmOlEBISEBM@IMIM all@mdleajossmo

C:-Dispersion occurs only for white light with in a transparent medium
MYOOEIRIQ BOWACTHIT HAUSOD QUS| OTIM 20@ED Al®O®d aMv.eQiEs

D:-There will not be dispersion loss when we use monochromatic light source
GROGEMIGEO2IJS HORIG GV DalCIUlEREMINNE AUlETVBIVMS Moo OENBIIE)

Correct Answer:- Option-A

Question41:-The Nobel Prize for Physics in 2022 was awarded to Alain Aspect, John
F. Clauser, Anton Zeilinger, for their contribution in the experiments on quantum
mechanics. For their experiment they made use of

2022 - 081 6@0OH:000TYOIREs CGMOENIT MUARIM., 106N eAIMIglen aldleusmenglon
MVLEIIMH UL @RESRIM @RYOTVE, ERIEM afal GHITVE, ERHMAWM HTVQINA aaMlIBLE en@'l_gé.
@RAIMOS al@lBUMOTIMIV] GRAIAB OalCIUI] 4@

A:-Entangled electron positron pairs
HG6OBIQ DRIGRHIEN aldMIleSIemd ezowle:ud

B:-Entangled light photons
HGEOEIQ ©HAIG GaNIEZ6MEHUd



C:-Entangled electrons with opposite spins
Al adlmes:es05&SI® sneIe,eModE:08

D:-Entangled positron pairs
&S8Rl Galdomilesosnd eeRoculeud

Correct Answer:- Option-B

Question42:-Which of the following statements are correct?
(i) Solder and brass contain Tin

(ii) Brass is an alloy of Copper and zinc

(iii) Bronze is an alloy of Copper and Tin

©96¢ ®ATIBlEBM JMIAUMBE AVIV® B!

(i) emvordawdlgf allysiel. slad @pseRlolge

(il) eamiemoge MiBlemon. GREIN® @R allys

(iii) eamiemowe Slmlemome. @rERINW @RYEM allgls

A:-Both (i) and (ii)
(i), (ii)

B:-Both (ii) and (iii)
(i), (iii) evcu @6rEo

C:-Only (ii)
(i) @0@o

D:-Only (iii)
(iii) @0@o

Correct Answer:- Option-B

Question43:-Which law provides an explanation of how hot air balloon works?
GaNg af) @ ENIBJENM aRBEEROM (AIBOTIEBRME af)M@IEMO QllWEl®:E6Me aB@ Mlwaadem MeIM@

A:-Charles' Law
21003MY Mlae

B:-Boyle's Law
cssmo%'l Ml

C:-Henry's Law
®anmMOl Mlwme

D:-Avogadro's Law
@RQUNICAWI Mo

Correct Answer:- Option-A

Question44:-Which is the first element to be named after an Asian Country?
B aGaHB EIVODIOHMO Caldl®d @BV ¢ald Malw Qeis:eam?

A:-Indium
DB Lo

B:-Nihonium
mleano6emIo

C:-Gallium
noelw.

D:-Germanium



2dcMmIo
Correct Answer:- Option-B

Question45:-Which among the following is included in "Dirty Dozen''?
96 0QMAURI@ ag@oem’ WA aaumled 9udesoBIRIGlesmMa@?

A:-Chlorofluoro Carbons
coggoczoo%%eoo HODB6NIND

B:-DDT

(\D’kw'lcg'l

C:-Methane
AleLnad

D:-Carbon Disulphide

BIBENIEM OO TVUBEANY
Correct Answer:- Option-B

Question46:-The Indian Council for Cultural Relations (ICCR) functions under which
Union Ministry?

MM OBDEMAVIE 630900 H0B40@d dlealsummy’ (ICCR) ag@ eo@a@moni@alay’ sldlanem’
@UBONEBN @ ?

A:-Ministry of Culture

(TMVOEMYIEIH ACPIRIW.

B:-Ministry of Tourism
50lrve AEDIRIW.

C:-Ministry of External Affairs
O.ﬂ('éGUDcG:O(a‘g A[(Qo)1]=T\0)

D:-Ministry of Home Affairs
Correct Answer:- Option-C

Question47:-Kambala is a distinct sport of which state?
HMNIS aBO TVMLNIMOOD GG (CMiH HIdalemosadem?

A:-Gujarat
DOWOIOT)

B:-Karnataka
cG:(&GI_BOSrﬂ)

C:-Maharashtra

2a030I0Y

D:-Tamil Nadu
@algos’

Correct Answer:- Option-B

Question48:-In which country was the remains of the newly discovered human
species 'Nesher Ramla Homo' found?

@IV HOMOTIQ AU HMAIW 'OMAUB 0oAID GaNIERI' QYOS @RAIBIUEBRUS @D IWTBMIMITY
HOMROTIQ®?

A:-France



@Qommy’
B:-China

6)6).21M

C:-Russia
Oty

D:-Israel
OYICQT@D

Correct Answer:- Option-D

Question49:-Nelliyode Vasudevan Namboothiri, who passed away in August 2021,
was associated with which dance form?
2021 enuqlled @pm@ly emeaflewos’ anayesaim Mmdidl ag® QOmE@BaIQ)a0] cIMLE|S@IEM?

A:-Kathakali
OGS

B:-Kathak

OB

C:-Bharatnatyam
BEMMISYo

D:-Mohiniattam
C@0a0lWoS0

Correct Answer:- Option-A

Question50:-In which state is the Trirashmi Buddhist cave complex located
@leUZl NJEL YaNI VY46 AR MMAIMDIMIET mﬂ@'ls)maym@?

A:-Maharashtra
000(600%

B:-Tamil Nadu

o@algos’

C:-Uttar Pradesh
OOMDB(JERUD

D:-Madhya Pradesh
DELYAJCBUD

Correct Answer:- Option-A

Question51:-A boat travels a certain distance upstream at 10 km/hr and the same
distance downstream at 20 km/hr. Find the time the boat will take to travel 40 km
upstream and downstream

8@ enidg mlualmge. aosleals 10 &).dl./aemlesdlel. @rem go. @ieess 20 &).dl./aemleadiel
averidlesme. esniog 40 816100108 QHSIEaIRe MICLERo TLEAUGBIEHIM afFERIN TVAWo HEENBIDE:

A:-6.5 h
6.5 oemlesad

B:-6 h
6 oemlesd

C:-7 h
7 oemlgsad



D:-5.5 h
5.5 oemilgsad

Correct Answer:- Option-B

Question52:-The difference between selling prices obtained after a single discount
of 30% and two successive discounts of 20% and 10% on the marked price Rs.
20,000 of a product is

8@ OOIMOTIOMO @PSWIBesOTIw alleimow 20,000 oy 30% &g &ldlgpe 20%, 10%
af)(MIEEROM QS ®SO 4O E6ME HIFlNBWdE8 GUone IElEBM alladalm allaiek:ud maleiss almPMo

A:-Rs. 4,000
@. 4,000

B:-Rs. 300
@. 300

C:-Rs. 400
@. 400

D:-Rs. 440
@. 440

Correct Answer:- Option-C

Question53:-If X means +, Y means —, Z means / and P means X, then (4P3) Z6Y2
X agonay +, Y agonay —, Z agam@ /, P agamay X ereemsslad (4P3) (Z6Y2)

A:-0
0
B:-2
2
C:-1
1
D:-—-1
-1

Correct Answer:- Option-A

Question54:-Raju has a certain average mark for 8 subjects. In the ninth subject, he
got 90 marks thereby increasing his average by 9 marks. His new average is
emalm dlvalo el s Mmlualo wWEIW®E! MIBE BN, BMIMI Qllatamlmd 90 modey
&Gl @p®ard]l WWEWE 9 MOBHs QdRLly. @PAOMO oJoilw LEIWE!

A:-
80
80

B:-19
19

C:-9
9

D:-18
18

Correct Answer:- Option-D



Question55:-If the 20th term of an A.P. exceeds its 9th term by 22, the common
difference is

a8@ A.P. @es 20-:0ae0m es. @oalemo 9-::0. esdlom 22 -@r@d @5meenBlcd ean@aow
QI®LOM0

A:-1
1

B:-2
2

C:-3
3

D:-9
9

Correct Answer:- Option-B

Question56:-A clock is set right at 1 PM. The clock loses 16 minutes in 24 hours.
What time will the clock show when the true time is 7 PM on the 4th day.

04 1 nemles’ e egoes moeledlsldlesm. 24 asiledlad egoeslay 16 dladlg mayen]ge. 4-::00
Glaime @0odmn muawe. 7 PM @oeildlesemioud egoes ag@ Tuame &:06mleso?

A:-6 : 08 PM
6:08PM

B:-6 : 56 PM
6:56 PM

C:-7 : 56 PM
7 : 56 PM

D:-7 : 08 PM
7 : 08 PM

Correct Answer:- Option-A

Question57:-If it is possible to form a word with the first, 4th, 7th, and the 11th
letters of the word 'SUPERFLUOUS' write the first letter of the word
SUPERFLUOUS ogam anesleado 1, 4, 7, 11 @nesonud 9a16@ouils] 8@ Qe @alenlgomond
HYIQORBIT QUIESIOMO @RYBY EROBHO0 af)EDH:

A:-S
S

B:-L
L

C:-0O
(@)

D:-E
E

Correct Answer:- Option-B

Question58:-The next term of the following letter series will be
EH, JK, ON, ?



@36)Pa]OQAN GRHHO alOMIOQYEHS @JOI0) alBo

EH, JK, ON, ?

A:-UQ
uQ

B:-TQ
TQ

C:-TR
TR

D:-UR
UR

Correct Answer:- Option-B

Question59:-A and B start from a fixed point, A moves towards east and after
walking 7 km, turns to the right and covers 9 km, B moves towards west and walks
8 km and then turns to his right and walks 11 km. Now how far are A and B from
each other?

A, B agarlal diluailo enflazallad adlany’ @me.clesm. A sleesnos allagme. 7 sleaiodlod msmmaimoeudatis
areomos aldleom 9 eleandlod eaid ©.alQM, B aislemmocoog ailsed] 8 wsleaiodlod msam’ cueicomes
oldleom 11 sleeiodlod msesam. oeapud A @ B o alomes @ @oaeciwosm?

A:-15
15

B:-20
20

C:-25
25

D:-18
18

Correct Answer:- Option-C

Question60:-Find the missing number
0,6, 20,42,72,7
allgeato® MmmId &engallSlends

0,6,20,42,72,7

A:-106
106

B:-112
112

C:-110
110

D:-108
108

Correct Answer:- Option-C

Question61:-The boy never did his homework, ----------- ?
A:-did he?
B:-didn't he?



C:-does he?
D:-don't he?
Correct Answer:- Option-A
Question62:-The more she scrubbed, the ------------- it looked.
A:-shiny
B:-shining
C:-shine
D:-shinier
Correct Answer:- Option-D
Question63:-We must take the child home. Change the sentence into Passive Voice
A:-The child must be taking home
B:-The child must be taken home
C:-The child must taken home
D:-The child must take home
Correct Answer:- Option-B
Question64:-My colleague put forward ------------ Unique idea.
A:-some
B:-a
C:-many
D:-an
Correct Answer:- Option-B
Question65:-Would you mind if | ------------- the music now?
A:-play
B:-plays
C:-played
D:-playing
Correct Answer:- Option-C

Question66:-I could hear the seemingly buoyant steps at the door. The synonym of
the word - buoyant

A:-muffled

B:-cheerful

C:-noisy

D:-unhappy

Correct Answer:- Option-B

Question67:-A ream of paper
A nest of mice
Y of stars



A:-herd
B:-fleet
C:-bunch
D:-galaxy
Correct Answer:- Option-D
Question68:-The film star ------------- his new luxury car.
A:-floated
B:-flaunted
C:-floored
D:-flounted
Correct Answer:- Option-B
Question69:-Ray ---------- while his mother was talking to her friends.
A:-cut in
B:-went after
C:- looked forward
D:-put out
Correct Answer:- Option-A

Question70:-They hold their alma mater in high regard and often visit the place.
Alma mater is their -----------

A:-Church

B:-Hometown

C:-School

D:-Office

Correct Answer:- Option-C
Question71:-'&dm"' agomAdmae QIBIT alBo aB®?

A:-ryeem

B:-crg@'l

C:-9a1wome

D:-9aicrudio

Correct Answer:- Option-C

Question72:-moey esogomdleamaeicd wdle?
(i) @3
(1) EoaIe@d

A:-(i) 20@o 0w
B:-(ii) m0@o voal
C:-(i), (ii) agorlar vewl



D:-(i), (ii) agoilcr &g

Correct Answer:- Option-B
Question73:-'c8dwem' aga alzowilendo aylafl.wo

A:-cduom

B:-cdws

C:-aauwlml

D:-cdwal@)

Correct Answer:- Option-D
Question74:-'somssl' agam eewelges @rdmns

A:-spmgon GrSlesd:

B:-somsommm @mnsl

C:-ea0mu@o©l em@lgom @oaldhSo

D:-eaomuymoell m@de:an @rg]

Correct Answer:- Option-C
Question75:-wdecw?

A:-osom

B:-aowm

C:-auswad

D:-acwwad

Correct Answer:- Option-A

Question76:-'esewem' aldlesig@amioud,
(1) ®so + emem
(ii) ®s + eweml

1) 20@o @

i), (i) Agomemsud

A:-(
B:-(ii) @0@o voal
C:-(
D:-(i

),
), (ii) agarlal eog

Correct Answer:- Option-B
Question77:-ewel.teniadlaimoe al@?

A:-aiemilenod

B:-allzpodmdailevd

C:-digesmod

D:-@reupalemod

Correct Answer:- Option-A

Question78:-'mpud' agam aneslemo alladlme



A:-couil
B:-woadl
C:-ewnadl
D:-eeoul

Correct Answer:- Option-D

Question79:-'awwleuy alwleeqsaim' - 8gajeeamy

A:-aw
B:-aiwem
C:-awload
D:-aiwym

Correct Answer:- Option-D

Question80:-moee e®gomidlesmaicd edFIOOD QG RD?

A:-ag@o6ng sommeyGladal©o @OSHUI Q) ODIC4/BM
B:-@raedado coalowadl aodom emom @ryues:osaImaerT
C:-a1eo0auwll Q @aiuee qulle:@lendo

D:-6m0m ¢a06lEBm@ilae a0@e HOM@o alOEOTHITD AWM

Correct Answer:- Option-D

Question81:-The technique used to combine multiple channels for transmission
over a communication link is

A:-Signalling
B:-Multiplexing
C:-Transmission
D:-Switching

Correct Answer:- Option-B

Question82:-Which are the two different types of ISDN data rate access?

A:-BRI and PRI
B:-STD and ISD
C:-ADSL and VDSL
D:-FTTH and IPTV

Correct Answer:- Option-A

Question83:-The band width of a ISDN - B channel is

A:-64 kbps

B:-128 kbps

C:-16 kbps

D:-8 kbps

Correct Answer:- Option-A



Question84:-The maximum speed of an ISDN BRI channel is
A:-2 mbps
B:-12 kbps
C:-128 kbps
D:-8 mbps
Correct Answer:- Option-C
Question85:-In optical fibre the information travels in the form of
A:-Sound
B:-Light
C:-Electricity
D:-Solar waves
Correct Answer:- Option-B

Question86:-Which of the following is Government of India owned FSU providing
telecom services in India (except in Delhi and Mumbai)?

A:-MTNL

B:-VSNL

C:-TRAI

D:-BSNL

Correct Answer:- Option-D

Question87:-Any switching system used by an organisation to provide both internal
switching function and access to public network is called

A:-PBX

B:-ESS

C:-ISDN

D:-Telex

Correct Answer:- Option-A

Question88:-The features of a PABX which block the incoming calls to a specific
location is called

A:-DOD
B:-Call waiting
C:-Call drop
D:-DND
Correct Answer:- Option-D
Question89:-The Voip service that connect PBX to internet is called
A:-PSTN
B:-POTS



C:-SIP trunk
D:-ISDN

Correct Answer:- Option-C

Question90:-Which of the following PBX delivers PBX functionally as service through
cloud?

A:-EPAX

B:-Hosted PBX

C:-PABX

D:-All the above

Correct Answer:- Option-B

Question91:-Which of the following PBX system uses both PSTN and SIP to carry out
communication to the outside world?

A:-EPBX

B:-Voip PBX

C:-PABX

D:-Hybrid PBX

Correct Answer:- Option-D

Question92:-In installing an IP-PBX, which of the following port of IP-PBX is
connected to a broad band modem or router?

A:-LAN
B:-WAN
C:-FXS Port
D:-FXO Port

Correct Answer:- Option-B

Question93:-The Generally used factory default LAN IP address for IP PBX
configuration is

A:-192.168.1.1
B:-8.8.8.8
C:-192.168.0.2
D:-8.8.4.4

Correct Answer:- Option-A

Question94:-Which of the following telecommunication medium is having the lowest

A:-Co axial cable
B:-Jelly filled copper cable
C:-Optical fibre cable



D:-Cat 4 cable
Correct Answer:- Option-C

Question95:-Which of the following Telecom service provides voice, data and IP TV
services in a single channel?

A:-FTTH

B:-Cable TV

C:-HD TV

D:-ISDN

Correct Answer:- Option-A

Question96:-The feature that enable callers to directly dial into a phone extension
without the assistance of the operator is known as

A:-DOD

B:-Call waiting

C:-Call parking

D:-DID

Correct Answer:- Option-D

Question97:-The feature that enable a telecom operator to forward or extend a call
to a station even if the station is engaged in a call and if the call, is not answered
with in a predefined time interval the call will be routed back to the operator is
called

A:-Call holding

B:-Voice Mail

C:-Call Clamp on
D:-Conference calling
Correct Answer:- Option-C

Question98:-The ability to receive calls at any number of designated phones,
whether ringing all once or in a predefined sequence is known as

A:-Follow me calling
B:-Conference calling
C:-Group calling

D:-Trunk call

Correct Answer:- Option-A

Question99:-In connecting PBX to FTTH Telephone line which port of thee ONT is
connected to PABX

A:-FXS
B:-LAN1
C:-FXO
D:-PON



Correct Answer:- Option-A

Question100:-What is the name of the customer end device used in FTTH a
services?

A:-ADSL Modem
B:-VDSL Modem
C:-Set of Box
D:-ONT

Correct Answer:- Option-D



